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(A) (B) W) —@® (©] ©)/®)*x100
1 2 W I A 153, 156 52.1 158, 940 55.4 A\ 5,784 N3.6
2 fFE OB R OV F OB 427 0.1 421 0.1 §) 1.4
3 JiE x H 4 8, 950 3.0 2,420 0.8 6, 530 269. 8
4 & A £ 116, 607 39.7 118, 670 41.4 A 2,063 N1 7
5 # il 4 1 0.0 1, 000 0.4 /A 999 AN99. 9
6 F 174 A 4, 059 1.4 3,749 1.3 310 8.3
7T T f& 10, 800 3.7 1, 800 0.6 9, 000 500. 0
AN A F 294, 000] 100.0 287,000 100.0 7, 000 2.4
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(A) (B) W—® ©]f ©/® x100
1 # B =g 160, 724 54,7 170, 307 59.3 A 9,583 ANb. 6
2 & e # 104, 424 35.5 105, 005 36. 6 /\ 581 NO0. 6
3 i A% % firg E=¢ 22,100 7.5 4, 840 1.7 17, 260 356. 6
4 N {& =g 4,752 1.6 4, 848 1.7 A\ 96 N2.0
5 F firi % 2,000 0.7 2,000 0.7 0 0.0
o A F 294, 000] 100.0 287,000 100.0 7, 000 2.4




